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Salary of a person is first increased by 20%, then it is
decreased by(20%)Percentage changﬂrl_hls salary is:
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The expenses onrice, fish and oil of a family are in the
ratio 12: 17 : 3. The prices of these articles are in-
creased by 20%, 30% and 50% respectively. The to-
tal expenses of family on these articles are

Increased by
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The price of sugar is increased by 20%. If the expen-
diture on sugar has to be kept the same as earlier,

the ratio between the reduction in consumption and
the original consumption is
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Rama’s expenditures and savings are in the ratio 5 :
3. If her income increases by 12% and expenditure
by 15%, then by how much per cent do her savings

increase 7
W& AT AA F=9d U 5 : 3 H1 ST 81 AR SHR! T4

o 12% T = H 15% i gfg Bl ST, 9 39h! s9d |

foram wfaea =t gfs Br?
(1) 12% (2) 7% (3) 8% (4) 13%




The ratio of the number of boys to that of girls in a
village is 3 : 2. If 30% of boys and 70% of girls ap-
peared in an examination, the ratio of the number of
villagers, appreared in the examination to that not
appeared in the same examination is
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The difference of two numbers is 20% of the larger
number. If the smaller nhumber is 20, the larger

number is :
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(1) 25 (2) 45 (3) 50 (4) 80
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Difference of two numbers is 1660. If 650/0 of one

. O
number iIs 85 /0 of the other number, the smaller

number is
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A number is first decreased by 20%. The decreased
number is then increased by 20%. The resulting num-

ber is less than the original number by 20. Then the
original number is
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(1) 200 (2) 400 (3) 500  (4) 600




The difference between the value of the number In-
creased by 20% and the value of the number de-

creased by 25% is 36. Find the number.
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(1) 7.2 (2) 0.8 (3) 720 (4) 80




1 litre of water is added to 5 litres of alcohol-water
solution containing 40% alcohol strength. The strength

of alcohol in the new solution will be
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A litre of pure alcohol is added to 6 litres of 30%
alcohol solution. The percentage of water in the solu-
tion is
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(1) 50% (2) 65% (3) 60%  (4) 40%




